Tabulation of Bids Village of Hoffman Estates Eagle Way Sanitary Sewer Project (19-112)

County	Cook										
4 May 2022, 10:00 A.M. Attendees: Bev Romanoff, Alan Wenderski, Paul Redman, Oscar Gomez (All VOHE)			ENGINEERS ESTIMATE		Performance Construction & Engineering, LLC 217 W. John Street Plano, IL 60545		H. Linden & Sons Water and Sewer, Inc. 722 E. South Street Unit D Plano, IL 60545		Bolder Contractors Inc., 316 Cary Point Drive Cary, IL 60013		
ITEM #	ITEMS	UNIT	QUANTITIES	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
20800150	TRENCH BACKFILL	CU YD	3,475	\$55.00	\$191,125.00	\$65.00	\$225,875.00	\$43.00	\$149,425.00	\$46.00	\$159,850.00
21101625	TOPSOIL FURNISH & PLACE, 6"	SQ YD	7,285	\$4.50	\$32,782.50	\$5.00	\$36,425.00	\$6.00	\$43,710.00	\$7.00	\$50,995.00
25000100	SEEDING, CLASS 1	ACRE	0.72	\$6,000.00	\$4,320.00	\$9,000.00	\$6,480.00	\$10,000.00	\$7,200.00	\$10,000.00	\$7,200.00
25000210	SEEDING, CLASS 2A	ACRE	0.78	\$5,500.00	\$4,290.00	\$8,000.00	\$6,240.00	\$10,000.00	\$7,800.00	\$10,000.00	\$7,800.00
25000400	NITROGEN FERTILIZER NUTRIENT	POUND	65.3	\$25.00	\$1,632.50	\$3.00	\$195.90	\$5.00	\$326.50	\$5.00	\$326.50
25000500	PHOSPHOROUS FERTILIZER NUTRIENT	POUND	39.2	\$25.00	\$980.00	\$3.00	\$117.60	\$5.00	\$196.00	\$5.00	\$196.00
25000600	POTASSIUM FERTILIZER NUTRIENT	POUND	26.2	\$25.00	\$655.00	\$3.00	\$78.60	\$5.00	\$131.00	\$5.00	\$131.00
25100630	EROSION CONTROL BLANKET	SQ YD	7,285	\$3.00	\$21,855.00	\$3.00	\$21,855.00	\$4.00	\$29,140.00	\$2.00	\$14,570.00
28000400	PERIMETER EROSION BARRIER	FOOT	4,825	\$6.00	\$28,950.00	\$1.00	\$4,825.00	\$4.00	\$19,300.00	\$2.00	\$9,650.00
28000510	INLET FILTERS	EACH	25	\$550.00	\$13,750.00	\$150.00	\$3,750.00	\$140.00	\$3,500.00	\$50.00	\$1,250.00
40600290	BITUMINOUS MATERIALS TACK COAT	POUND	1,475	\$6.00	\$8,850.00	\$0.50	\$737.50	\$1.00	\$1,475.00	\$0.01	\$14.75
40604062	HOT-MIX ASPHALT SURFACE COURSE IL-9.5 MIX D, N70	TON	88	\$150.00	\$13,200.00	\$155.00	\$13,640.00	\$300.00	\$26,400.00	\$100.00	\$8,800.00
42400200	PORTLAND CEMENT CONCRETE SIDEWALK, 5"	SQ FT	1,918	\$7.50	\$14,385.00	\$11.00	\$21,098.00	\$10.00	\$19,180.00	\$10.00	\$19,180.00
HE424015	DECORATIVE CONCRETE MEDIAN (BRICK PATTERN) , 6"	SQ FT	460	\$30.00	\$13,800.00	\$25.00	\$11,500.00	\$30.00	\$13,800.00	\$24.00	\$11,040.00
42400800	DETECTABLE WARNINGS	SQ FT	16	\$100.00	\$1,600.00	\$40.00	\$640.00	\$52.00	\$832.00	\$40.00	\$640.00
44000157	HOT-MIX ASPHALT SURFACE REMOVAL, 2"	SQ YD	801	\$6.00	\$4,806.00	\$14.00	\$11,214.00	\$8.00	\$6,408.00	\$7.00	\$5,607.00
44000600	SIDEWALK REMOVAL	SQ FT	1,918	\$3.00	\$5,754.00	\$1.50	\$2,877.00	\$3.00	\$5,754.00	\$2.00	\$3,836.00
44003100	MEDIAN REMOVAL	SQ FT	460	\$10.00	\$4,600.00	\$1.50	\$690.00	\$10.00	\$4,600.00	\$4.00	\$1,840.00
HE442100	CLASS D PATCH, SPECIAL, 10"	SQ YD	1,336	\$32.00	\$42,752.00	\$68.00	\$90,848.00	\$62.00	\$82,832.00	\$93.00	\$124,248.00
HE550ADJ	ADJUST STORM SEWERS	EACH	7	\$500.00	\$3,500.00	\$1,000.00	\$7,000.00	\$500.00	\$3,500.00	\$1,900.00	\$13,300.00
52200020	TEMPORARY SOIL RETENTION SYSTEM	SQ FT	12,950	\$12.00	\$155,400.00	\$1.00	\$12,950.00	\$10.00	\$129,500.00	\$5.00	\$64,750.00
HE563006	SANITARY SEWER , PVC SDR 26, 6", SPECIAL	FOOT	13	\$100.00	\$1,300.00	\$200.00	\$2,600.00	\$130.00	\$1,690.00	\$340.00	\$4,420.00
HE563008	SANITARY SEWER , PVC SDR 26, 8", SPECIAL	FOOT	31	\$135.00	\$4,185.00	\$210.00	\$6,510.00	\$171.00	\$5,301.00	\$360.00	\$11,160.00
HE563010	SANITARY SEWER , PVC SDR 26, 10", SPECIAL	FOOT	14	\$150.00	\$2,100.00	\$250.00	\$3,500.00	\$220.00	\$3,080.00	\$380.00	\$5,320.00
HE563012	SANITARY SEWER , PVC SDR 26, 12", SPECIAL	FOOT	4,031	\$350.00	\$1,410,850.00	\$350.00	\$1,410,850.00	\$360.00	\$1,451,160.00	\$420.00	\$1,693,020.00
HE563108	SANITARY SEWER REMOVAL, 8", SPECIAL	FOOT	31	\$30.00	\$930.00	\$10.00	\$310.00	\$27.00	\$837.00	\$6.00	\$186.00
HE563110	SANITARY SEWER REMOVAL, 10", SPECIAL	FOOT	1,504	\$30.00	\$45,120.00	\$10.00	\$15,040.00	\$10.00	\$15,040.00	\$6.00	\$9,024.00
HE563500	SEWER TESTING	LUMP SUM	1	\$6,500.00	\$6,500.00	\$20,000.00	\$20,000.00	\$30,000.00	\$30,000.00	\$8,000.00	\$8,000.00
HE563550	POST CONSTRUCTION TELEVISING	LUMP SUM	1	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$16,000.00	\$16,000.00	\$15,000.00	\$15,000.00
HE563800	CONNECT TO EXISTING WET WELL	EACH	1	\$10,000.00	\$10,000.00	\$50,000.00	\$50,000.00	\$10,000.00	\$10,000.00	\$30,000.00	\$30,000.00
HE563900	LIVE SEWER BYPASS	LUMP SUM	1	\$50,000.00	\$50,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$20,000.00	\$20,000.00
HE564400	SANITARY MANHOLES, 4 FOOT DIAMETER, SPECIAL	EACH	11	\$10,000.00	\$110,000.00	\$7,500.00	\$82,500.00	\$8,000.00	\$88,000.00	\$16,000.00	\$176,000.00
HE564450	SANITARY DROP MANHOLES, 4 FOOT DIAMETER, SPECIAL	EACH	1	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00
HE604061	FRAME & LID, SANITARY, TYPE 1, CLOSED LID, SPECIAL	EACH	12	\$750.00	\$9,000.00	\$450.00	\$5,400.00	\$425.00	\$5,100.00	\$500.00	\$6,000.00
60500040	REMOVING MANHOLES	EACH	3	\$1,750.00	\$5,250.00	\$650.00	\$1,950.00	\$1,000.00	\$3,000.00	\$400.00	\$1,200.00
HE605500	ABANDON MANHOLES, SPECIAL	EACH	8	\$800.00	\$6,400.00	\$450.00	\$3,600.00	\$1,000.00	\$8,000.00	\$900.00	\$7,200.00
HE606300	COMBINATION CONCRETE CURB & GUTTER REMOVAL & REPLACEMENT, SPECIAL	FOOT	305	\$20.00	\$6,100.00	\$45.00	\$13,725.00	\$72.00	\$21,960.00	\$60.00	\$18,300.00
HE701014	TRAFFIC CONTROL & PROTECTION	LUMP SUM	1	\$5,000.00	\$5,000.00	\$224,151.40	\$224,151.40	\$300,000.00	\$300,000.00	\$237,000.00	\$237,000.00
HE720010	REMOVE & RESET SIGN	EACH	2	\$750.00	\$1,500.00	\$500.00	\$1,000.00	\$300.00	\$600.00	\$500.00	\$1,000.00

Tabulation of Bids

Village of Hoffman Estates

Eagle Way Sanitary Sewer Project (19-112)

County Cook											
4 May 2022, 10:00 A.M. Attendees: Bev Romanoff, Alan Wenderski, Paul Redman, Oscar Gomez (All VOHE)			ENGINEERS ESTIMATE		Performance Construction & Engineering, LLC 217 W. John Street Plano, IL 60545		H. Linden & Sons Water and Sewer, Inc. 722 E. South Street Unit D Plano, IL 60545		Bolder Contractors Inc., 316 Cary Point Drive Cary, IL 60013		
ITEM#	ITEMS	UNIT	QUANTITIES	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
780009000	MODIFIED URETHANE PAVEMENT MARKING - LETTERS & SYMBOLS	SQ FT	124	\$8.00	\$992.00	\$10.00	\$1,240.00	\$11.00	\$1,364.00	\$10.00	\$1,240.00
78009004	MODIFIED URETHANE PAVEMENT MARKING LINE, 4"	FOOT	1,768	\$12.00	\$21,216.00	\$3.00	\$5,304.00	\$4.00	\$7,072.00	\$2.00	\$3,536.00
78009006	MODIFIED URETHANE PAVEMENT MARKING LINE, 6"	FOOT	440	\$12.00	\$5,280.00	\$4.00	\$1,760.00	\$5.00	\$2,200.00	\$4.00	\$1,760.00
78009012	MODIFIED URETHANE PAVEMENT MARKING LINE, 12"	FOOT	88	\$15.00	\$1,320.00	\$5.00	\$440.00	\$6.00	\$528.00	\$10.00	\$880.00
78009024	MODIFIED URETHANE PAVEMENT MARKING LINE, 24"	FOOT	37	\$22.00	\$814.00	\$9.00	\$333.00	\$10.00	\$370.00	\$20.00	\$740.00
TOTAL BID As Read				\$2,312,844.00		\$2,379,250.00		\$2,570,311.50		\$2,776,210.25	
TOTAL BID As Corrected				-			\$2,379,250.00		\$2,566,311.50		\$2,776,210.25

Tabulation of Bids Village of Hoffman Estates Eagle Way Sanitary Sewer Project (19-112)

County	Cook								
4 May 2022, 10:00 A.M. Attendees: Bev Romanoff, Alan Wenderski, Paul Redman, Oscar Gomez (All VOHE)				Sheridan Plumbing & Sewer Ind 6754 W. 74th Street Bedford Park, IL 60638		A Lamp Concrete Contractors, Inc. 1900 Wright Boulevard Schaumburg, IL 60193		Acqua Contractors Corporation 551 IL Route 83 Elmhurst, IL 60126	
ITEM#	ITEMS	UNIT	QUANTITIES	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
20800150	TRENCH BACKFILL	CU YD	3,475	\$55.00	\$191,125.00	\$10.00	\$34,750.00	\$30.00	\$104,250.00
21101625	TOPSOIL FURNISH & PLACE, 6"	SQ YD	7,285	\$6.00	\$43,710.00	\$1.00	\$7,285.00	\$6.00	\$43,710.00
25000100	SEEDING, CLASS 1	ACRE	0.72	\$9,500.00	\$6,840.00	\$6,200.00	\$4,464.00	\$2.00	\$1.44
25000210	SEEDING, CLASS 2A	ACRE	0.78	\$8,500.00	\$6,630.00	\$5,700.00	\$4,446.00	\$2.00	\$1.56
25000400	NITROGEN FERTILIZER NUTRIENT	POUND	65.3	\$3.25	\$212.23	\$1.00	\$65.30	\$2.00	\$130.60
25000500	PHOSPHOROUS FERTILIZER NUTRIENT	POUND	39.2	\$3.25	\$127.40	\$1.00	\$39.20	\$2.00	\$78.40
25000600	POTASSIUM FERTILIZER NUTRIENT	POUND	26.2	\$3.25	\$85.15	\$1.00	\$26.20	\$2.00	\$52.40
25100630	EROSION CONTROL BLANKET	SQ YD	7,285	\$3.50	\$25,497.50	\$2.75	\$20,033.75	\$2.00	\$14,570.00
28000400	PERIMETER EROSION BARRIER	FOOT	4,825	\$4.00	\$19,300.00	\$1.00	\$4,825.00	\$3.00	\$14,475.00
28000510	INLET FILTERS	EACH	25	\$130.00	\$3,250.00	\$15.00	\$375.00	\$150.00	\$3,750.00
40600290	BITUMINOUS MATERIALS TACK COAT	POUND	1,475	\$0.50	\$737.50	\$0.01	\$14.75	\$0.01	\$14.75
40604062	HOT-MIX ASPHALT SURFACE COURSE IL-9.5 MIX D, N70	TON	88	\$170.00	\$14,960.00	\$152.00	\$13,376.00	\$140.00	\$12,320.00
42400200	PORTLAND CEMENT CONCRETE SIDEWALK, 5"	SQ FT	1,918	\$15.00	\$28,770.00	\$10.00	\$19,180.00	\$18.00	\$34,524.00
HE424015	DECORATIVE CONCRETE MEDIAN (BRICK PATTERN) , 6"	SQ FT	460	\$35.00	\$16,100.00	\$14.00	\$6,440.00	\$33.00	\$15,180.00
42400800	DETECTABLE WARNINGS	SQ FT	16	\$15.00	\$240.00	\$25.00	\$400.00	\$49.00	\$784.00
44000157	HOT-MIX ASPHALT SURFACE REMOVAL, 2"	SQ YD	801	\$15.00	\$12,015.00	\$9.00	\$7,209.00	\$5.00	\$4,005.00
44000600	SIDEWALK REMOVAL	SQ FT	1,918	\$5.00	\$9,590.00	\$1.75	\$3,356.50	\$3.00	\$5,754.00
44003100	MEDIAN REMOVAL	SQ FT	460	\$10.00	\$4,600.00	\$1.75	\$805.00	\$5.00	\$2,300.00
HE442100	CLASS D PATCH, SPECIAL, 10"	SQ YD	1,336	\$74.00	\$98,864.00	\$96.00	\$128,256.00	\$106.00	\$141,616.00
HE550ADJ	ADJUST STORM SEWERS	EACH	7	\$4,665.00	\$32,655.00	\$2,325.00	\$16,275.00	\$1,250.00	\$8,750.00
52200020	TEMPORARY SOIL RETENTION SYSTEM	SQ FT	12,950	\$50.00	\$647,500.00	\$1.00	\$12,950.00	\$55.00	\$712,250.00
HE563006	SANITARY SEWER , PVC SDR 26, 6", SPECIAL	FOOT	13	\$85.00	\$1,105.00	\$520.00	\$6,760.00	\$280.00	\$3,640.00
HE563008	SANITARY SEWER , PVC SDR 26, 8", SPECIAL	FOOT	31	\$110.00	\$3,410.00	\$619.00	\$19,189.00	\$300.00	\$9,300.00
HE563010	SANITARY SEWER , PVC SDR 26, 10", SPECIAL	FOOT	14	\$200.00	\$2,800.00	\$667.00	\$9,338.00	\$350.00	\$4,900.00
	SANITARY SEWER , PVC SDR 26, 12", SPECIAL	FOOT	4,031	\$305.00	\$1,229,455.00	\$500.00	\$2,015,500.00	\$475.00	\$1,914,725.00
HE563108	SANITARY SEWER REMOVAL, 8", SPECIAL	FOOT	31	\$25.00	\$775.00	\$1.00	\$31.00	\$8.00	\$248.00
HE563110	SANITARY SEWER REMOVAL, 10", SPECIAL	FOOT	1,504	\$10.00	\$15,040.00	\$1.00	\$1,504.00	\$10.00	\$15,040.00
HE563500	SEWER TESTING	LUMP SUM	1	\$8,000.00	\$8,000.00	\$5,000.00	\$5,000.00	\$20,000.00	\$20,000.00
	POST CONSTRUCTION TELEVISING	LUMP SUM	1	\$18,000.00	\$18,000.00	\$8,000.00	\$8,000.00	\$10,000.00	\$10,000.00
HE563800	CONNECT TO EXISTING WET WELL	EACH	1	\$7,500.00	\$7,500.00	\$50,000.00	\$50,000.00	\$275,731.85	\$275,731.85
HE563900	LIVE SEWER BYPASS	LUMP SUM	1	\$80,000.00	\$80,000.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00
	SANITARY MANHOLES, 4 FOOT DIAMETER, SPECIAL	EACH	11	\$15,200.00	\$167,200.00	\$8,900.00	\$97,900.00	\$25,000.00	\$275,000.00
HE564450	SANITARY DROP MANHOLES, 4 FOOT DIAMETER, SPECIAL	EACH	1	\$18,900.00	\$18,900.00	\$16,000.00	\$16,000.00	\$50,000.00	\$50,000.00
	FRAME & LID, SANITARY, TYPE 1, CLOSED LID, SPECIAL	EACH	12	\$350.00	\$4,200.00	\$1,500.00	\$18,000.00	\$500.00	\$6,000.00
	REMOVING MANHOLES	EACH	3	\$800.00	\$2,400.00	\$825.00	\$2,475.00	\$300.00	\$900.00
HE605500	ABANDON MANHOLES, SPECIAL	EACH	8	\$2,500.00	\$20,000.00	\$1,225.00	\$9,800.00	\$600.00	\$4,800.00
	COMBINATION CONCRETE CURB & GUTTER REMOVAL & REPLACEMENT, SPECIAL	FOOT	305	\$40.00	\$12,200.00	\$47.25	\$14,411.25	\$65.00	\$19,825.00
HE701014	TRAFFIC CONTROL & PROTECTION	LUMP SUM	1	\$45,000.00	\$45,000.00	\$404,632.05	\$404,632.05	\$240,000.00	\$240,000.00
HE720010	REMOVE & RESET SIGN	EACH	2	\$400.00	\$800.00	\$350.00	\$700.00	\$600.00	\$1,200.00

Tabulation of Bids

Village of Hoffman Estates

Eagle Way Sanitary Sewer Project (19-112)

County	County Cook								
	4 May 2022, 10:00 A.M. Attendees: Bev Romanoff, Alan Wenderski, Paul Redman, Oscar Gomez (All VOHE)			Sheridan Plumbing & Sewer Inc. 6754 W. 74th Street Bedford Park, IL 60638		A Lamp Concrete Contractors, Inc. 1900 Wright Boulevard Schaumburg, IL 60193		Acqua Contractors Corporation 551 IL Route 83 Elmhurst, IL 60126	
ITEM#	ITEMS	UNIT	QUANTITIES	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
780009000	MODIFIED URETHANE PAVEMENT MARKING - LETTERS & SYMBOLS	SQ FT	124	\$25.00	\$3,100.00	\$11.00	\$1,364.00	\$11.00	\$1,364.00
78009004	MODIFIED URETHANE PAVEMENT MARKING LINE, 4"	FOOT	1,768	\$2.50	\$4,420.00	\$3.50	\$6,188.00	\$3.50	\$6,188.00
78009006	MODIFIED URETHANE PAVEMENT MARKING LINE, 6"	FOOT	440	\$3.00	\$1,320.00	\$4.00	\$1,760.00	\$4.00	\$1,760.00
78009012	MODIFIED URETHANE PAVEMENT MARKING LINE, 12"	FOOT	88	\$4.50	\$396.00	\$5.75	\$506.00	\$6.00	\$528.00
78009024	MODIFIED URETHANE PAVEMENT MARKING LINE, 24"	FOOT	37	\$15.00	\$555.00	\$10.00	\$370.00	\$9.00	\$333.00
TOTAL BID As Read					\$2,809,384.78		\$2,984,000.00		\$4,000,000.00
TOTAL BID As Corrected					\$2,809,384.78	1	\$2,984,000.00	ı [\$4,000,000.00